— It 1 kI 4-1

1 R XX 4
NO. 1 i /6 A

L WD FREREfEE 72 I,

() 6 x — 8 =4( x + 2)

2 5(x —6) =3 x — 22

@ —4(5 + x ) =3(4 — x )
4 7 —3(5x —2) =6

(5) 30 x = 40 ( x — 5)

6 — 8 (6 + x) =9 (4 — x)
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(1) 6 x — 8 = 4( x + 2)
6 x — 8 = 4 x + 8
6 x — 4 x = 8 + 8
2 X = 16
X = 8
(2) 5( x — 6) = 3 x — 22
5 x — 30 = 3 x — 22
5 x — 3 x = -22 + 30
2 = 8
x =
(3) — 4(5 + x ) = 3(4 — x )
- 20 — 4 x = 12 — 3 x
— 4 x + 3 x = 12 + 20
- x = 32
X -32
(4) 7 — 3(5 x — 2)
7 — 15 x + 6
— 15 = 6 — 7T — 6
— 15 -7
T
ST
(5) 30 x = 40 (x — 5)
3 x = ( x — 5)
3 x = X 20
x — 4 X = — 20
- x = -20
X 20
(6) — 8 (6 + x ) = 9 (4 - x )
— 48 — 8 X = 36 - 9 X
- 8 x + 9 X = 36 + 48
X = 84
X = 84
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